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script DFLT {
feature ContextualAlternatesl;

class @lower [abcde fghijklmnopgrstuvwzxyz e low out e mid in
e_mid_in_low_out o_high_in o_low_in o_high_out o_high_in_high_out o_low_in_high_ out
o_mid_out o_high_in_mid out o_low_in_mid_out e_low_in e_low_in_low_out g_high_in
g_low_in g_low_out g_high_in_low_out g_low_in_low_out];

class @not.e [abcdfghijklmnopgrstuvwzxyz o _high in o_low_in
o_high_out o_high_in_high_out o_low_in_high_out o_mid_out o_high_in_mid_out
o_low_in_mid_out g_high_in g _low_in g_low_out g_high_in_low_out g_low_in_low_out];

class @high.out [o_high_out o_high_in_high_out o_low_in_high_out];

class @mid.out [o_mid out o_high_in_mid_out o_low_in_mid_out];

class @e [e e_low _out e_mid in e_mid_in_low _out e_low_in e_low_in_low_out];
class Qg [g g_high_in g_low_in g_low_out g_high_in_low_out g_low_in_low_out];

class @low.out [e_low_out e_low_in_low_out e_mid in_low_out g_low_out g_low_in_low_out
g_high_in_low_out];

feature ContextualAlternatesl calt {
lookup class.l.high.out;
lookup class.l.mid.out;
lookup class.2.low.out;
lookup high.out;
lookup low.out;
lookup oe;

lookup class.l.high.out {
context @lower (@not.e);
sub 0 class.l.high.out.l;

lookup class.l.high.out.l {
sub o —> o_high_out;
sub o_high_in -> o_high_in_high_out;
sub o_low_in —-> o_low_in_high_out;

lookup class.l.mid.out {
context @lower (@e);
sub 0 class.l.mid.out.l;

lookup class.l.mid.out.1l {
sub o -> o_mid_out;
sub o_high_in -> o_high_in_mid_out;
sub o_low_in —-> o_low_in_mid_out;

lookup class.2.low.out {



context @lower (@lower);
sub 0 class.2.low.out.l;

lookup class.2.low.out.l {
sub e -> e_low_out;
sub e_mid_in -> e_mid_in_low_out;
sub e_low_in -> e_low_in_low_out;
sub g —> g_low_out;
sub g_high_in -> g_high_in_low_out;
sub g_low_in -> g_low_in_low_out;

lookup high.out ({
context (@high.out) @lower;
sub 0 high.out.1l;

lookup high.out.l {
sub o —> o_high_inj;
sub o_high_out -> o_high_in_high_out;
sub o_mid_out -> o_high_in_mid_ out;
sub g —-> g_high_in;
sub g_low_out -> g_high_in_low_out;

lookup low.out {
context (@low.out) @lower;
sub 0 low.out.l;

lookup low.out.l {

sub o —> o_low_in;

sub o_high_out -> o_low_in_high_out;
sub o_mid_out -> o_low_in_mid_out;
sub e —> e_low_in;

sub e_low_out -> e_low_in_low_out;
sub g —> g_low_in;

sub g_low_out -> g_low_in_low_out;

lookup oe {
context (@mid.out) @lower;
sub 0 oel;

lookup oel {
sub e —> e_mid_in;
sub e_low_out -> e_mid_in_low_out;



